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END 120 ÷ 12 x 7

10 x 4 x (7 + 3)

1 x 10 + 9 - 1

9 + 10 - 5 - 3

END

1 + 9 + 1 x 12

6 - 20 ÷ 4

(4 + 8) + 5 - 1

8 + 16 ÷ 4

54 ÷ 9 + 9

END 11 x 12 + 6 x 5

8 x 48 ÷ 1250 ÷ 5 x 12

5 x 3 - 6 + 4

1 x 144 ÷ 12 1 + (4 - 2) x 1

END

6 x 21 ÷ 3

28 ÷ 4 x 5

8 - 4 + (12 + 12)

3 ÷ 3 x 6

8 x 1 + 11 - 3

9 x 6 - 9 + 7

10 - 5 - 2 + 11

START

16

Draw a line from START to END.
11 13 15
16

Cross out the number you use above and then write it below.
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6 1 5 6 4 2 9 1 8 1 8 8 4 9 7 4 1

4 8 2 4 3 2 3 5 1 6 5 7 4 7 2 1

It was 6 degrees above 
zero in the morning.  By 
afternoon the temperature 
rose 16 degrees.  How 
warm was it?

12 - 5 + 8 x 2 How many meters are 
there in 123 kilometers?

How many minutes is it 
from 9:00 a.m. to 10:30 
a.m.?

How much money is 1 
quarter, 6 dimes, 1 nickel, 
and 1 penny?

Write 2
4

 in lowest terms.

word root vert can mean turn extrovert, revert
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At the end of their study of the kinds of 
electricity, Mrs. Thompson's class completed a 
quiz on the work they had done. There were 
twenty-six students in the class. Ten of the 
students made one hundred on the test, six 
made ninety, three made eighty, and the rest 
made seventy. What was the average quiz 
score for the class?

Justin is 30% Sioux, so when Indian Pudding 
Day was near, he decided to make enough 
Indian Pudding for everyone in his class to 
have half of a cup of pudding. There are 
twenty-three students in his class, and he 
would also like to give the same size of 
pudding to his teacher, the principal, and the 
basketball coach. How many cups of Indian 
Pudding will he need to make?

Mrs. Lewis's class is raising money for needy people during October.

Anna saved a quarter for each day of the month to donate.

Billy saved a dime each day.  Who collected more money?  By how much more?

Rose has 50 cents.  What fraction of a dollar is that?  Be sure to simplify the fraction.

https://www.mathworksheets.com


Name:
Week of December 6
MathWorksheets.com

There are 3 birthdays in our class for the month of September.  Alex, Justin, and Jenna all 

have birthdays.  Jenna is the last to celebrate.  Her birthday is on the last day of the month. 

 If you add the day numbers of the other birthdays, it equals the day number that Jenna 

celebrates her birthday.  The first person to celebrate is Alex.  His birthday is 18 days 

before the next birthday.  On what day numbers are each of their birthdays?

Which is NOT correct?  Cross it out.

25 pints = 3 gallons

72 inches = 6 feet

3 feet = 1 yard

10 pints = 5 quarts
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Yesterday it rained for 4 1
2

 hours at Anna's house. She 

got to use her new pink 

umbrella. At Ava's house it 

only rained for 2.3 hours. 

How much longer did it rain 

at Anna's house?

Amy had the highest 
batting average on her 
team. She won a trophy 
and a white t-shirt with 
the team mascot and 
her name on it. Her 
batting average was 
0.32. Write her batting 
average as a fraction.

Mary made 10 cookies on 

Blah Buster Day. She ate 1
10

 of them. Her brother ate 0.2 

of the cookies. Her little 

sister ate 1
5

 of them. How 

many cookies were left?

What Words?  Your Words!
Fill in the boxes with letters to make words.  Each box is worth points.  Earn points by filling in as many boxes 
as you can.  Sum up the points you earn for each word.

Make a Word Sum

C L
1

I
2

M
4

B
8

7

1

I
2 4 8

O F
1 2 4 6 12 18

U N
1 2 4 8 14 20

Make a Word Sum
1

E
2 4 6 8 12 18

K I
1 2

P R E
1 2 4 8 14

B L
1 2 4 6 10 14

8 9 8
- 1 9 9

11 x 5 = 

word root agog can mean leader pedagogue, synagogue

60 ÷ 5 = 
1 kg = 1,000 g

12 kg = g
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0 0 ÷ 1 4 3 = 2 = 8 0 3 0 5 x 4
9 8 6 x

Use the pieces above to help you fill in the runaway math puzzle.

How many inches are in 5 feet?

 inches
4 8 6

+ 3 7 8

Write 7,945,165 in words.
2 9

+ 4 7

13 cm = mm

Circle the correctly spelled words.
begger chase, continue
crane, krawl, crewe
manaje, battle, aroze

What time is 16 hours after 
4:00 p.m.?

3

0 ÷ 6 =

x ÷ 9

3 x

= ÷ 6

0 ÷ = 9 ÷ = 3 =

÷ =

x 7 1 = 4

1 8 ÷ = 2 1 x

1 4 x 9

= 7 x = 4 2

0 = 3

8 2 = 1 6
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Can you draw ONE line going through ALL the circles?  Your line can go left, right,
up, or down.  It cannot go diagonally.  Your line cannot cross over any part of 
the line you have already drawn.
You MUST TURN in a BLACK circle.  Do NOT TURN in a WHITE circle.

The puzzle on the left shows a correct line going through all the circles.

Finish the line: Finish the line:

6 3
- 1 2

Circle the digit in the hundredths place.

755.298

Circle the smallest number:
2,371,465,702

2,943
467,893,512,890

6,107,580

Write the missing family fact.

71 + 97 = 168
168 - 97 = 71
97 + 71 = 168

word root tang can mean touch tangible, tangle
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5 4 2 9 2 ÷ 1 9 ÷ x 5 8 4 3 = 3
9 7 2 ÷

Use the pieces above to help you fill in the runaway math puzzle.

How many digits are in the 
current year?

How far do you think it is 
from your desk to your 
teacher's desk?  Write an 
estimate of the distance you 
think it could be.

77 ÷ 7 = 3 x 6 = 
Cross out all of the prepositional 
phrases in the sentence.
I love playing on your jungle gym!

Write a letter that has a line 
of symmetry.

4 7

0 x = 0 8 ÷ 2 =

3 0 7

= 1 ÷ 7 = 3

1 1

8 4 = 7 3

0 0 6

7 ÷ ÷

2 8 ÷ = 9

3 6 6 = 6 = 6

8

= ÷

x 3 = 7

0 4 = 5

9
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Morgan, Taylor, and Mackenzie competed in the women's singles figure skating competition.

Each person has been assigned a technical and presentation ordinal mark. A mark of 1.0 
indicated that the person was placed in first place. To determine the winner, the two marks 
from each judge are added together and assigned an ordinal. In case of a tie, the technical 
mark has more weight.  If there is still a tie, we will allow both people to share the same rank. 
(Please note that these calculations are simplified from the actual Olympics.)

For the technical ordinal score, the judges give the best performance an ordinal of one. The 
next best performance receives an ordinal of two, and so on. The presentation ordinal 
score is assigned in the same way.  So for three people, a person could have a presentation 
ordinal score ranging from 1 to 3.

(When ordinals are compared, a higher ordinal score actually means a lower number.  For 
example an ordinal of 1 is better, and considered higher than an ordinal of 3.)
Figure out the scores for each skater and their final rankings.

1. Taylor had the best technical ordinal score.

2. One skater received a 3 presentation ordinal and a 1 technical ordinal.

3. Taylor's technical ordinal is higher than her presentation ordinal.

4. Mackenzie's technical ordinal score was lower than Morgan's technical ordinal score.

5. One skater received a 3 technical ordinal and a 1 presentation ordinal.

6. Morgan's technical ordinal is equal to her presentation ordinal.

Morgan received a score of .  Morgan came in  place.

Taylor received a score of .  Taylor came in  place.

Mackenzie received a score of .  Mackenzie came in  place.

(6 + 8) + 7 = 

Insert punctuation marks into this 
sentence.
Alyssa, Amy said, how are you 
feeling today?

Circle the greatest number:
5,087,126 380,106,539
439,916 2,745

https://www.mathworksheets.com


Name:
Week of December 6
MathWorksheets.com

The Daily Dozen Donut Company makes 1,164 donuts every day.  How many donuts does 
the company make in 2 weeks?

On the day the Mystic Magic Museum opened, 4,450 people visited its exhibits.  What was 
the average number of people per hour who visited the museum from its opening at 10:00 
a.m. until its close at 6:00 p.m.?

Mr.  Wilson estimated that he serves about 45 black cow root beer floats each day.  About 
how many floats did he serve in April?
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What number is halfway 
between 0 and 12?

You need to add what to 
77 to get 83?

There are 3 groups of 4 
rocks.  How many rocks?
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
33.1

is the sum
3.7 19.8

1.9

7.7

38.1
is the sum

6.6

9.8

1.9

38
is the sum

3.7

25.8

1.9

Example:
3.7 + 19.8 + 1.9 + 7.7 = 33.1

Example:
6.6 + 3.7 + 25.8 + 1.9 = 38

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 14.8, 25.8, or 19.8.
The other three numbers have to all be DIFFERENT and must be from these: 0.9, 7.7, 
1.9, 6.6, 3.7, or 9.8.

44.225.8 7.7

0.9

9.8

6.6

9.8

less than 25.8

14.8

37 25.8

greater than 0.9

0.9

42 1.9

even

odd

39.9
even odd

less than 25.8

32.8
odd either 19.8 or 7.7

less than 25.8

even

44.2
either 19.8 or 7.7

odd

41
odd

less than 19.8

32.4
odd

1.9

less than 25.8

36
either 7.7 or 1.9

even

odd

either 7.7 or 1.9 less than 25.8

odd

1.9

less than 25.8

0.9

less than 19.8

odd
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 24.9, 18.1, or 17.8.
The other three numbers have to all be DIFFERENT and must be from these: 2.5, 3.6, 
0.1, 6.3, 5.4, 8.2, or 7.8.

353.6 17.8

8.2

5.4

34.4 6.3

either 2.5 or 6.3

2.5

less than 18.1

27 18.1

0.1

even

28.5 0.1

odd

greater than 0.1

either 0.1 or 6.3 less than 24.9

even

33.9
less than 24.9

8.2

less than 18.1

less than 18.1

35.1
even

even

29.6
even greater than 0.1

greater than 0.1

32.35.4

even

even

greater than 0.1

28.5
even

less than 18.1

less than 17.8

30.2
either 5.4 or 2.5 greater than 0.1

greater than 0.1

33.1
greater than 0.1

3.6

odd

less than 8.2

26.1
less than 18.1 even

greater than 0.1

odd

39.5
even

less than 17.8

either 5.4 or 24.9

37.4
greater than 5.4

greater than 0.1

odd

35.8
greater than 0.1

less than 8.2

even

40.6
even

odd

36.7
even

either 5.4 or 24.9

even

odd

either 7.8 or 5.4

even less than 17.8

even

less than 8.2
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Each row, column, and box must have the numbers 
1 through 6.  The first box is done.

3 1 5 6 4

2 4 6 5

1

5 4 6

5 3

6 4

Each row, column, and box must have 6 different pictures.
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Each row, column, and box must have the numbers 
1 through 6.  The first box is done.

3 2 5 6

1 4 6 5

2 4

4 3

5 4

1

Each row, column, and box must have 6 different pictures.
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Words can be to the RIGHT, DOWN, LEFT, or UP.  Every letter is used ONCE.
B A R R I E R S D S H E E P

B M E G N I E Y D E D H R U O
O H O S P I T A L C E E E E S
Y N O G A T C O L E I S C P
F O R E C A S T S I D L O A O
T R E A S U R E S N S L R E K

E V R E S E R P E O W N P E
B E G N I T U T I T S B U S SWrite the words found.

SPOKES OUR

Ava was given three numbers:  3,  5,  
and  1.  She needs to use two of these 
numbers to make a fraction.  Can she 
make a fraction that is greater than 
three-fourths?

Write an equation to represent this:

The sum of twelve and six is eighteen.

In the number 985,426, the digit 5 is in 
what place?

Form the past, present, and future 
progressive form of the verb.
snore

50 ÷ 5 = 
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